Efficiency vs P,

0.05
o
9.045
>
20.04
o
.035
0]
0.03
0.025
0.02
0.015
0.01F -+ P Feeeeeeeeen e

0008+ xeefersneneensshoncc
E * : N .

o J..G: PETIT BRI ETIT B R TIT BRI

g 9% :

g ¢t

o h’ﬁéﬁﬁiﬁﬁﬁiﬁﬁﬁif:ﬁiﬁﬁﬁiﬁﬁﬁiﬁﬁéﬁiﬁiﬁiﬁiﬁiﬁi

—=— DQM_CKF_TTbase
—— DQM_CKF_TT_retrainOldFiles125_v2_prelimWP_epoch4

=0.05
[
§.045
2
$0.04
[S]
$.035
o
0.03
0.025
0.02
0.015
0.0
0.005

10
1.1

Ratio

=

0.9
0.g!

TP N

Efficiency vs ¢

0.05

° J--G_-! . ] ] ]

o “ET

@ i 1: 3 T

DR -2 Tt
if s 1 :
0 : i
-3 0 1 2 3




	Contents
	Page 1


